9510-4VK An NPD Reproduction Kit.
Ford 4100 4v Carburetor Screw Kit

Concours correct.

Note:There can be some differences in screw styles over the years.

This kit represents the most prevalent styles seen on original carbs and confirmed
in the Ford books to the extent possible.

This kit does not include hardware for 1970-up choke pull off cover (see 376262-SK)
or 1963-64 hot idle compensator on back of air horn (see 31037-S7, 2 required)

Kit Components:

Reference number Fastener style Fastener size Quantity in kit
43256-S8 Slotted Fillister screw #10-32 x 5/8" 8
43252-S8 Slotted Fillister screw #10-32 x 1/2" 1
34803-S8 Split Lock Washer #10 9
378547-S8 Slotted Fillister screw #8-32x13/4" 3
43395-S8 Slotted Fillister screw #8-32 x 3/4" 4
31061-S8 Slotted Fillister screw #8-32x1/2" 8
43248-S8 Slotted Fillister screw #8-32 x 3/8" 5
34802-S8 Split Lock Washer #8 13
34656-S8 Nut ext. tooth lock washer #10 1
33923-S8 Jamb nut 5/16" 1
Usage: Reference number Quantity Notes
Carb top to bottom 43256-S8 8
34803-S8 8
Secondary diaphragm cover 43395-S8 4
34802-S8 4
Accelerator pump cover 31061-S8 4 no washers used
Power Valve cover 31061-S8 4
34802-S8 4
Choke housing to carb 378547-58 3
34802-S8 3
Choke cover to housing 43248-S8 3 no washers used
Heater hose/choke shield 43248-S8 2

34802-S8 2



Dashpot bracket to carb 43252-S8 1 Auto trans only
34803-S8 1

Choke fast idle screw arm 34656-S8 1 to throttle shaft



